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Independent Parameters

ADetectors used:
ABOO, 800, A4100, C4100, D4100, B4850, C4850, D4850, ROSS, YATES

AChannels used:
AHHE, HHN, HHZ

AObservation time: 100 sec.
AGPS times: 11074160QA.107416100 sec.
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Structure of Slides

Left-hand Side Righthand side
AUsed plausible recovery AParameters were estimated
parameters pased on geologic composition

AUsed following relation to obtain [1] Of térrain surrounding
h, whered is the wave speed, HomestakeMine, I.e. shale
and Qs the recovery frequency
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Recovery Frequency: 0.1 Hz

h=15500m, =0.7 h =100 m =0.7
U =3,100 m/s U =3,350 m/s

r-wave recovery, frequency 0.1 Hz

r-wave recovery, frequency 0.1 Hz
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Recovery Frequency: 0.1 Hz

h=15500m, =0.7 h =250m, =0.7
U =3,100 m/s U =3,350 m/s

r-wave recovery, frequency 0.1 Hz

90° r-wave recovery, frequency 0.1 Hz
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Recovery Frequency: 0.1 Hz

h=15500m, =0.7 h =400 m, =0.7
U =3,100 m/s U =3,350 m/s

r-wave vecovery, frequency 0.1 Hz r-wave recovery, frequency 0.1 Hz
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Recovery Frequency: 0.1 Hz

h=15500m, =1.0 h =100m, =1.0
L =3,100m/s v =3,350m/s

r-wave recovery, frequency 0.1 Hz r-wave recovery, frequency 0.1 Hz

N 90°

, o -29
Power (m?/Hz) 10 Power (m2/Hz) 10



Recovery Frequency: 0.1 Hz

h=15500m, =1.0 h =250m, =1.0
L =3,100m/s v =3,350m/s

r-wave recovery, frequency 0.1 Hz r-wave recovery, frequency 0.1 Hz
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Recovery Frequency: 0.1 Hz

h=15500m, =1.0 h =400 m, =1.0
L =3,100m/s v =3,350m/s

r-wave recovery, frequency 0.1 Hz r-wave recovery, frequency 0.1 Hz
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Recovery Frequency: 0.1 Hz

h=15500m, =1.3 h =100 m, =1.3
v =3,100m/s L = 3,350m/s



